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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best compleftes
each sentence. Then mark the correct choice on your answer sheet.

1- The questionnaire was intended to ~w-------- information on eating habits.
1) retain 2) elicit 3) survey 4) presume
2- The prime minister has called on the public to «----e---- behind the government.
1) rally 2) pursue 3) denote 4) underlie
3- College life opened up a whole --«------- of new experiences.
Iycore - 2) exposure 3) gamut 4) appreciation
4- The discovery of the new planet gave fresh -------n-- to research on life in outer space.
1) status 2) impetus 3) scheme 4) domain
5- Tt Was -m-mmemmm- of me to forget to give you the message.
1) pitfall 2) obstacle 3) remiss 4} inhibition
6- The number of old German cars still on the road ---------- to the excellence of their
manufacture,
1) traces 2) restores 3) orients 4) attests
7- Age alone will not --:-u-veun them from getting admission to this university.
1) react 2) conduct 3) distort 4) preclude
8- New technology, the main ---------- of the 1980s, has been a mixed blessing.
1} legacy 2) expansion 3) surplus 4) circumstance
9- I'm sure my university days appear happier in ---------- than they actually were at the
time.
1) procedure 2) retrospect 3) proportion 4} approximation
10- Even a{n) ---=r«n=eu glance at the figures will tell you that sales are down.
1) cursory 2) marginal 3) implicit 4) sustainable

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

A map is always smaller than the real world which it represents. The difference (11) --------
between the map and the Earth’s surface (12) ----~n--- a scale ratio. For example, the scale
ratio 1:50,000 states that one unit of measurement on the map is (13) - fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) --—--———-- the ground.

A map at a large scale, (15) ---——-—-- 1:10,000, will show a small area of the Earth’s surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail. ’
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11-1) in size 2} from sizes 3) as size 4) for sizes
12- ) expresses 2) is expressed by

3) is expressing 4) will be expressed by
13- 1) equally to 2) equal with 3) equally with 4) equal to
14-1)in 2) over 3) on 4) under
15- 1) similar 2) being like 3) such as 4) the same as

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer sheet.

Reading 1:

In recent years, there has been a greal increase both in the amount of printed
information and the need to retrieve data from it. For example the worldwide production
of new titles and new editions in 1967 was 400,000, double the outputf a decade earlier.
The trend also is shown by the growth in the number of scientific and technical Journals
and articles and the increasing needs of specialists to keep abreast of new knowledge in
their fields of interest. Similarly, the amount of information produced by a business or a
government agency and the need for retrieving information on which to make timely
decisions have increased. As a resuli, libraries, technical information centers, and other
institutions using nonmechanized techniques fer information storage and retrieval tend
to be overwhelmed by the amount of information being produced and the need to provide
rapid access to it. )

One way to alleviate these problems is to use a machine as part of an information
storage and retrival system. In 1945, in the United States, Vannevar Bush first proposed
the use of the digigal computer for information systems. His article, “As We May Think,”
in the Atlantic Monthly, marked the starting point for the development of mechanized
information storage and retrieval systems. Later technical advances — particularly in
computers, magnetic recording techniques, and microphotographic techniques -
provided a potential capability for mechanized information storage and retrieval
comparable to that given to the scientist in the solution of his computational problems
and to the businessman in the solution of his data processing problems.

16- Which of the following best describes the organization of the passage?
1) Suggestions for the use of information storage and retrieval sustems are given.
2) Mechanized and nommechanized information storage and retrival systems are compared and
confrasted.
3) The general concept of information storage and retrieval is defined, and examples are given.
4) A description of the conditions affecting information storage and retrieval is followed by a
description of the solutions. '
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17- According to the passage, users of nonmechanized techniques for information storage
and retrieval ............... ...
1) deny that there is a need for rapld access to information
2) are overwhelmed by mechanized information storage and retrieval systems
3) find it difficult to deal with large amounts of information
4) disapprove of the use of the digital computer for information systems
18- The word “that” in line 19 refersto ................
1) advance 2) information 3) capabﬂzty 4) technique
19- Which of the following is NOT mentioned as a need for the storoge and retrieval of large
amounts of data? :
1) The increasing number of academic journals
2) The increasing number of academic journals
3) Decision making process in businesses and government agencies
4) Failure of nonmechanizesd techniques to store large amounts of data
20-The author’s attitude toward the subject of information storage and retrieval is

1) objective  2) emotional 3) indifferent 4) critical
Reading 2: | : .

The older aspect of the electronics revolution is concerned not with processing and
storing information but with communicating it. The origins of modern communications
technology — the radio of the Italian electrical engineer Guglielmo Marconi in 1896 —
coincided very closely in time with the beginnings of modern atomic physies, which was to
transform Marconi’s invention in a way he could never have imagined Redio
communication began and was developed commercially for over a decade without any
electronic sophistication. It was achieved with enormous wire coils and giass plates," oil
gadgets. World War 1 accelerated the shift to clectron tubes and cxrcu:trg@@g;gmg in
the 1920s; into the cathode-ray that made television possible. After World War II, which
stimulated the rapid development of still more advanced techniques for radar and__
communications puposes, the development of the transistor permitted a complexnty of .
electronic circuitry hitherto impractical with electron tubes.

Developments using both electronics and photography have begun te supplant the
mechanical printing techniques that had evolved in slow succession since about 1450.
Gutenberg’s ifivention was a triumph of mass productmn, which nevertheless created ifs
own.craftsmanship. The industrialization of printing in the early 19" cenfury followed by
the-mechanization of type setting with the Linotype machine (1884) and its successors
rendered craftsmanship obsolete. These developments, together with the introduction of
wood-pulp paper, made possible thée énormous proliferation of prmted matter that
characterized the 20" century.

21- Why did the author mention the radio of Guglielmo Marconi?

1) To criticize radio communication in late 1800s

2) To introduce one aspect of the electronics revolutions

3) To tell how it influences the development of physics

4) To mention what marks the beginning of modern communications technology
22- The word “obsolete” in line 19 is closest in meaningto ...................

1) effective 2) out- of- date 3) considerable 4) h:gh— tech
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23- According to the passage, world wars ................... .

1) brought an end to electron tubes and circuitry

2) negatively impacted on the wey electronic communications progressed

3) helped the development of electron tubes and transistors

4) stimulated the development of mechanical techniques for communications purposes
24- What made television possible according to the passage?

1) circuitry 2} electron tubes 3) transistors _ 4) cathode-ray tubes
25- Which of the follwing statements is NOT true about printing techniques according to the
passage?

1} Linotype machine was an advantage over Gutenberg’s invention.

2) Developments in electronics and photography helped the development of printing
techniques.

3) Gutenberg’s invention marked the end of craftsmanship era.

4) The introduction of wood-pulp paper resulted in a massive increase in printed matter.

Reading 3: -

The study of control processes in electronic, mechanical, and biological systems is
known as cybernetics. The word was coined in 1948 by the American mathematician
Norbert Winer from thé Greek word meaning’ pilot or steersman. Cybernetics is
concerned with the analysis of the flow of information in both. living organisms and
machines, but it is particularly concerned with systems that are capable of regulating
-their own operations without human control.

Automatic regulation is accomplished by using information about the state of the end
product that is fed back to the regulating device, causing it to modify or correct
production pmcedures if necessasy The concept of feedback is at the very heart of
of a self-regulating machine is thermostat, whlch reacts to continual feedback about the
outside temperature and responds accordingly to achieve the temperature that has been
programmed into it.

The applications of cybernetics are wide reaching, appearing in science, engineering,
lechnology, sociclogy, economics, education, and medicine. Computers can keep a patient
alive during a surgical operation, making instantancous modifications based on a
constant flow of information. In education, teaching machines use cybernetic proniples to
instruct students on an individual basis. In the home, aatomation is present in such
everyday products as refrigerators, coffeemakers, and dishwashers. In industry,
automation is increasing its applications, although it is currently applied primarily to the
large-scale production of single units. In industries in which a break in the flow of
production can ruin the product, automatic controls are mvaluable Chemical and
pertroleum plants are now almost completely automatic, as are mdustr:es involved in the
production of chemicals and atomic energy. Automation has become the answer when
human safety is the number one priority.

26- According to the passage, cybernetics is primarily concerned with systems that ..............
1) are self-regulating 2) analyze flaws of information
3) are controlled by humans 4) have wide-reaching applications
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27- Automatic regulation is accomplished by ................... .
1) making modifications in cybernetic principles
2) feeding information to the regulatory device
3) modifying and correcting production procedures
4) analyzing the flow of information to the organism
28- Which of the following is NOT mentioned as an area in which cybernetics has

applications?

1) Education 2) Philosophy 3) Engineering 4} Technology
29- According to the passage, automation in industry is primarily used in producing ............

1) everyday household products ) 2) large quantities of a single unit

3) advanced surgical instruments 4) small amounts of many different products
30- According to the passage, what makes a system automatic and self-regulating?

1) Feedback - 2) Humoun control

3) Information ‘ 4) Production procedures

PR EREV RN P
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SELECT DISTINCT A

FROM s

WHERE (A,C) in {
SELECT r1.A, r2.A O
FROMrasrl, rasr2
WHERE r1.B>r2.B

}

SELECT DISTINCT A «
FROM s
WHERE EXIST {
SELECT*
FROMrasrl, ras 2
WHERE ri.A=s.C AND 12.A=s.A
AND 2. B>rl.B

!

SELECT DISTINCT A
FROM (r NATURAL INNER JOIN s) as .
res {A,B,C)
WHERE EXIST {

SELECT*

FROM

WHERE r. A=res.C AND r.B> res.B

}

SELECT DISTINCTY r1.A .
FROMrasrl,ras2 (f
WHERE r1.B>r2.B AND
: (rl.Ar2. A)in {
SELECT*
FROM s

}
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typedef struct{ '
int value; -
struct process* List;
} semapheore;
wait (semaphore* S){
S —>valve——;
if (S—> value<){
add this process to S—>List;
block (—{8—> value));

signal (semaphore#S){
S—> value++;
if (8-> value<=0){ .
remove a process P from S —> List;
wakeup(P);
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waif (mutex);
; Critical~-section
signal (mutex);
Remainder —sectoin _
} while(TRUE);
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